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Utility(178), KK
take | sun 20
leave | sun | 100
take | rain 70
P(W) leave | rain 0
sun | 0.5 KA (W)
rain | 0.5 P(F|W)
Y sun | good | 0.65
T4k (F) sun | bad | 0.35

rain | good | 0.55
rain | bad | 0.45

1), WERWEEEHAE F, %M % K MEU 4.
2). LB A P(WF).
3). i P(F).
4). TR F AR B



X | Xi | P(Xe1]|Xe)
X, [ P(X1) 01 0 0.3
0 0.2 0 1 0.7
1 0.8 1 0 0.8
1 1 0.2
i X: | By | P(Ey|Xy)
0 | A 0.8
oNc) =
1 A 0.4
1 B 0.6

2. WR4EUL EE) HMM B8, THEDUT &
L) i E\=A, 8 P(X,,E,=A)="
2) M E,=B, it# P(X,,E, = A, Ey,=B)=? P(X,|E, = A, E,=B) =7
3. RLFUE L)
D VIERTFHA, 02 P1=0,P2 =1, WK WER B, = A, iFEHARFRIBUHE?
2) BT AU T 046, HPCRFE P1, P2 2202 (REFEIEIKKZ 0.23, 0.06)

3D W FT PSR AER A AT — PRI AR, IR AR AT A7 (BEHLEGR 0.34,
0.21)

4 WSS By = B, TS AR T AU ?
B) S HAURL T AT T HERRERIZE 2 (BENLAR 0.21, 0.53)
6) BUERIR TAE %A P(X,|E, = A, E, = B)?



